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QUESTION 1

In an Isilon environment, which type of storage node is best suited for high throughput and high concurrency using
SATA drives?

A. A100-Series
B. NL-Series
C. S-Series

D. X-Series

Correct Answer: D

QUESTION 2

Which protocol is used for communication between an Isilon InsightlQ virtual appliance and an end-user system?
A HTTP

B. HDFS

C.NFS

D. SMB

Correct Answer: A

QUESTION 3

A storage administrator is migrating existing Microsoft Windows file data to an Isilon cluster. The administrator
discovered that two servers are using the same share name in the environment. Which access zone feature will help in
implementing this migration?

A. Each SMB share can be represented with a unique name

B. Each NFS export can be represented with a uniqgue name

C. Each access zone will contain all available SMB shares by default

D. Each access zone will contain all available authentication providers by default

Correct Answer: A

QUESTION 4

In an Isilon environment, what is the total protection level offered by N+2:1?
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A. Two drives or one node can fail without any data loss in the cluster

B. Two hot spare drives and one cold spare drive are available for disk failures
C. Two hot nodes and one cold node are available for node failures

D. Two drives on one node can fail without causing any data loss in the cluster

Correct Answer: B

QUESTION 5

What happens in the Job Engine v2.0 when an error occurs in a phase on an Isilon cluster?
A. Job is marked failed

B. Job pauses

C. Phase pauses

D. Task fails

Correct Answer: A

E20-559 VCE Dumps E20-559 Study Guide E20-559 Braindumps

E20-559 VCE Dumps | E20-559 Study Guide | E20-559 Braindumps 3/3


https://www.pass4itsure.com/e20-559.html
https://www.pass4itsure.com/e20-559.html
https://www.pass4itsure.com/e20-559.html
http://www.tcpdf.org
https://www.pass4itsure.com/e20-559.html
https://www.pass4itsure.com/e20-559.html
https://www.pass4itsure.com/e20-559.html

